
MX4WUD 
INSTALLATION INSTRUCTIONS

PN #49091107 
� Page 1 of 5

H.E. Williams, Inc.          Carthage, Missouri          www.hew.com          417-358-4065
Information contained herein is subject to change without notice. REV.01/05/24.JL

WARNING:
	■ �This product must be installed in accordance with the applicable 

installation code by a person familiar with the construction and 
operation of the product and the hazards involved.

	■ Make sure all electrical power is turned off while installing the fixture.
	■ �This luminaire must be adequately grounded for protection against 

shock hazards and to assure proper operation.
	■ Disconnect power before servicing.

	■ LEDs are ESD (Electro Static Discharge) sensitive devices that can be 
easily damaged if the proper ESD mitigating steps are not taken.

	■ LEDs are very sensitive to mechanical damage. Caution must be taken 
to avoid damage to the LEDs.

	■ ESD or mechanical damage voids all warranties.
	■ Suitable for dry and damp locations.

STAND-ALONE ASSEMBLY (See page 3 for Row Assembly)

Step 1:	 Install (2) mounting brackets onto one extrusion with (4) 10-24 x 
3/8″ screws and nut provided.

3/16″ Square hole
is always on top

Step 2:	 Install wall brackets on wall, spaced to align with mounting 
brackets. Mounting brackets are 6″ from ends of extrusions; 12″ 
from ends of extrusions with occupancy sensor option. Sensor 
will be at right end of fixture, when facing wall.

Extrusion length

ø7/32″ mounting holes

2-5/16″ 1-3/8″

1-3/8″ typ.

(2) ø7/8″ holes

2-3/4”

7/16″ end cap

6″
12″ w/OCC

1/2″ clearance (both sides)

5-1/2″

2-7/8″
5-1/2″

Step 3:	 Mount extrusion to the wall.

A.	 Hook the top of the mounting bracket over the top of the 
wall bracket.

B.	 Swing the extrusion down engaging the mounting bracket 
under the wall bracket.

C.	 Install #8 x 1/4″ sheet metal screw supplied to secure 
mounting.

Note: 	The wall bracket should be entirely covered, top and 
bottom, by the mounting bracket.

C

A

B

TABLE OF CONTENTS
STAND-ALONE ASSEMBLY.............................................................................. 1
ROW ASSEMBLY................................................................................................. 3

ASY OPTION INSTALLATION.........................................................................5
WIRING DIAGRAM.............................................................................................5



MX4WUD 
INSTALLATION INSTRUCTIONS

PN #49091107 
� Page 2 of 5

H.E. Williams, Inc.          Carthage, Missouri          www.hew.com          417-358-4065
Information contained herein is subject to change without notice. REV.01/05/24.JL

Step 4:	 Install light cartridge.

A.	 Determine the cartridge install orientation.

B.	 Remove 1/2″ knockout from the side closest to the power 
entry and install bushing. Make electrical connections 
according to NEC and local codes. See “WIRING DIAGRAM” 
on page 5.

1/2″ KO Bushing
1/2″ KO

C.	 Connect upper LED rail to light cartridge and push 
connection into the cartridge.

D.	 Snap light cartridge into extrusion leaving room to connect 
quick-connect harnesses between cartridges. Visually 
check that all catches are engaged.

Upper LED
rail

Light
cartridge

Step 5:	 Install the lens.

A.	 Insert one side of lens into one side of fixture housing.

B.	 Push the corner of the opposite side of the lens into place.

C.	 Continue pushing along the housing until the entire lens is 
installed.

Note: 	To remove lens, pry out starting with the 4″ wide end.

A

A

B
C

Removal

Removal

B

C



MX4WUD 
INSTALLATION INSTRUCTIONS

PN #49091107 
� Page 3 of 5

H.E. Williams, Inc.          Carthage, Missouri          www.hew.com          417-358-4065
Information contained herein is subject to change without notice. REV.01/05/24.JL

ROW ASSEMBLY

Step 1:	 Layout extrusions so the mounting bracket holes are facing 
the mounting surface. Lay the feeder extrusion near the power 
source in the mounting surface.

Mounting surface Mounting 
holes

Mounting 
holes

Feeder Joiner Joiner

Power source

END-FEEDER ROW ASSEMBLY — PLAN VIEW

MID-FEEDER ROW ASSEMBLY — PLAN VIEW

Mounting surface Power source

Joiner Feeder JoinerJoiner

Step 2:	 Slide end mount bracket onto extrusion screw slots at row 
joints. Drive (2) 10-24 x 1/2″ set screws into screw channels so 
bracket cannot come out.

End mount bracket

Set screws

Step 3:	 Bend row aligners until the 2 halves break apart, then slide into 
extrusion as shown. Slightly bend at perforation to bind row 
aligners into location.

Row aligners
(only one side
shown for
clarity)
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Step 4:	 Insert light block plates into upper portion of extrusion by 1/2″. 
Bend plates out slightly to bind into location, then insert until 
wide portion of plate is halfway into extrusion.



MX4WUD 
INSTALLATION INSTRUCTIONS

PN #49091107 
� Page 4 of 5

H.E. Williams, Inc.          Carthage, Missouri          www.hew.com          417-358-4065
Information contained herein is subject to change without notice. REV.01/05/24.JL

Step 5:	 Install wall brackets. See stand-alone assembly step 2 (page 1).

Step 6:	 Mount extrusion to wall.

Note: 	For shorter rows, extrusions may be joined before 
mounting.

A.	 Mount feeder extrusion. Hook the top of the mounting 
bracket over the top of the wall bracket.

B.	 Swing the extrusion down engaging the mounting bracket 
under the wall bracket.

Note: 	The wall bracket should be entirely covered, top and 
bottom, by the mounting bracket.

A

B

C.	 Mount the joiner extrusion and connect row aligners using 
8-32 x 3/4″ cap screw and nut provided.

D.	 Continue mounting and connecting joiner extrusions until 
row is complete.

E.	 Install #8 x 1/4″ sheet metal screws supplied into the 
bottom of each bracket to secure mounting. Make electrical 
connections according to NEC and local codes. 
See “WIRING DIAGRAM” on page 5.

F.	 Install end mount bracket with set screws, then slide 
endcap assembly into place and secure with 8-32 x 1/2″ 
Phillips head screw.

C

Step 7:	 Install light cartridges.

A.	 Feeder cartridge: see stand-alone steps 3-4.

B.	 Joiner cartridge: Snap light cartridges in place leaving 4″ – 
6″ of space between units. Visually check that all catches 
are engaged.

C.	 Connect quick-connect harness(es) then slide cartridges 
tightly together toward end plate covering wiring 
harness(es). See “WIRING DIAGRAM” on page 5.

Step 8:	 Install lenses. See stand-alone step 5.

A

A

B
C

Removal

Removal

B

C



MX4WUD 
INSTALLATION INSTRUCTIONS

PN #49091107 
� Page 5 of 5

H.E. Williams, Inc.          Carthage, Missouri          www.hew.com          417-358-4065
Information contained herein is subject to change without notice. REV.01/05/24.JL

ASY OPTION INSTALLATION

CHANGE DIRECTION OF THROW - DOWNLIGHT

Step 1:	 Remove (3) screws from reflector.

Step 2:	 Snap bracket out of channel, then rotate 180 .̊

Step 3:	 Snap bracket back into channel.

Step 4:	 Attach reflector to brackets using #8 flat screws.

CHANGE DIRECTION OF THROW - UPLIGHT

Step 1:	 Remove screws in mounting rail. Rotate rail, reflector, and 
board assembly 180°.

Step 2:	 Attach mounting rail to extrusion with #8 flat screws.

DIRECTION OF THROW

ASYU ASYD ASYUD

REVERSED DIRECTION OF THROW

ASYU ASYD ASYUD

Uplight lens
has notches

Uplight mounting rail
with reflector attached

Extrusion

Channel

Wireway cover
with led boards
attached

Lower lens

#8 flat screw
Bracket

Slot to snap
brackets into

WIRING DIAGRAM
Make electrical connections in accordance with NEC and local codes.

Purple (DIM +)

Pink or Gray (DIM -)

0-10v Dimming driver leads.
Refer to the dimming driver 
instructions, if needed.

Black (Line)  

White (Neutral)  

Ground 

LED Driver(s) 

Driver/power supply disconnects accept #12 – #16 AWG stranded or solid wire.
Attach power supply and ground wires using UL listed wire connectors. 
Please consult factory for other driver configurations or emergency driver wiring diagrams.

Ground wire
if needed   

Su
pp

ly


	Stand-alone assembly (See page 3 for Row Assembly)
	row assembly
	ASY OPTION INSTALLATION
	WIRING DIAGRAM

